DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY,
LONERE — RAIGAD -402 103 :
Supplementary Winter Semester Examination — Nov - 2019

Branch: Mechanical Engineering | v Sém.:- v
Subject :- Manufacturing Processes —I (BTMEC401) -~ Marks: 60
Date:- 26/11/2019 ~ Time-3 Hr.

Instructions to the Students
1. Attempt any five questions of the following. . ‘
2. Tllustrate your answers with neat sketches, diagram etc:, wherever necessary.
3. If some part or parameter is noticed to be missing, you.may appropriately
assume it and should mention it clearly. : ‘ S

Q. Question ST e oer B Marks
1a | Sketch the cross section of a sand mould which is ready for pouring and label the 4
various important parts. Give a brief write-up-on the fdlloWiﬁg casting terms - Sprue,
Gate, Runner, Riser. o s A S S S 2
1b Explain the following properties of a moulding sand: o 6
i) Adhesivness ii) Collapsibility iii) Permeability - - SN
2a How does a cold rolling differ from hot rolling in terms of the process and product? 4
Explain what do you understand by the terms slab and billet? o5
2b Distinguish between open- and closed- die forging processes. What do you understand 4
by the term flash in forging. - =~~~ - o - A 2
3a | A hole of 10 mm x 25 mm is to be cutin'a 3 mm thicK sheet. The shear strength of the 6

material is 80 MPa. Estimate the press load required.

3b | Explain with sketches the difference between direct and indirect extrusion. List the 4
variables which affect the extrusion process performance.

S : 2
4a | Listout any three differences between brazing and soldering. Write two applications 6
+ " |'of each of them; Explain the undercut and cracking defects in welding.
'4b - | Describe the submerged arc welding process in respect of working principle, 6
" | advantages and limitations. ’
5a | List the methods of taper turning on.a lathe. In a turning operation, a cutting speed of 6
1 55 m/min has been selected. At what rpm should a 15 mm diameter bar be rotated?
18b_ | Show with a neat sketch the various parts and angles of a twist drill. Explain the 6
+ | various allied operations that can be performed on drilling machine, draw a simple
: sketch. -
- Tga ~ | ' What are three basic forms of milling process? Differentiate between the up milling 6
N and down milling. Any three differences.
“['6b | Classify gear manufacturing methods. Explain gear hobbing process with a neat 6

4 sketch. .
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Fig.3.

Solve Any Two:

2)

b)

<)

A load of 15 kN is raised by means of screw jack. The mean diameter of the
square threaded screw is 42 mm & the pitch 1510 mm. A foree of 120N is
applied at the end of a lever to raise the load. Determine the length of lever
to be used & mechanical advantage obtained. s the screw mo_m locking?
Take p=0.12.

What are uniform pressure & uniform wear.theories? Deduce expressions
for the friction torque considering both the theories for a flat collar.

Deduce an expression for the efficiency of an inclined plane when a body
moves down a plane. .

Solve Any Two:

2)

b)

)
a)

An automotive single plate clutch no:maﬁ of two pairs-of contacting
surfaces. The outer diameter of the friction:disk is 270 mm. The coefficient
of friction is 0.3 and the maximuin intensity of pressure:is 0.3 N/mm?. The
clutch is transmitting a torque of 531" N-m. Assuming uniform wear theory,
calculate: :

i.  the inner.diameter of Eo ?o:o: disk; and

ii. . spring force an@::& to keep the clutch engaged. -
A brake drimi of 440 mm in diameter is used in a braking system as shown
in Fig.4. The brake lever is inclined at n angle of 20° with the horizontal. A
vertical force of 400 N-magnitude is‘applied at the lever end. The coefficient
of friction is 0.35. The brake drum rmm a mass of 160 kg & it rotates at 1500
rpm. Determine the

i. Braking torque

ii. Number of tevolution made by the drum & the time taken before

coming to rest from the instant of brake is applied

Fig.4.

Discuss Prony brake dynamometer & Rope brake dynamometer with neat
sketches.

Draw the profile of a cam operating a knife-edge follower having lift of 30
mnr. The cam raises the follower with uniform acceleration & decelaration
for 120° of the rotation followed by a period of dwell for 30°. The follower
descends for the next 90° rotation of the cam with SHM, again followed by

05

05

05

05

0s

05

08

Page 2 of 3

a dwell period. The cam rotates at a uniform speed of 800 rpm & has a least
radius of 30 mm. What will be the maximum velocity & acceleration of the
follower during the lift & the return?

b) Write various types of cams.

Solve Any Two:

a) Explain the direct & reverse crank method. for QQGEEBW E%m_w:nma
forces in radial engines.

b) A three cylinder radial engine running at _moo r.p.m. i5 having its axes at
120° to each other. The stroke is 120 mm & each no:bmoﬁam rod is 215 mri
long. The mass of reciprocating parts is 3 kg per Q_EQQ Determine. the
primary & secondary unbalanced force acting on the enging. -

¢) Explainthe method of balancing of several masses aoﬂmﬁsm in same planes.

Paper End?
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b) A bar 1.5 m long and 10 mm diameter hangs verticaily and has a collar
securely fixed at the lower end. Find the maximum s{ress induced in the bar
when a load of 150 N falls an the collar from a height of 25 mm. Take E=
7 % 10° N/mm?. Also find strain energy stored in the bar.

Que3 @) A square column 300 mm x 300 mm carries an axial load of 200 kN. Find
the position of 30 kKN load along the axis bisceting the width of cross section
<o that end stresses developed at the other exireme of the column will be

zer0.

by A simply supported beam AB of span 4 m carrics an uniformly distributed
load as shown in fig. 3. Draw S.F. and B.M. diagrams for the beam. Find
magnitude of maximum B.M.

20 kKNfmM

Figured

Que.d  a) A rectangular beam 300 mm wide and 200 mm deep is simply supported
over a span of 8 m. What u.d.1. per meter the beam may carry, if the bending
stress is not to exceed 120 N/mm?

b) A channel section shown in fig. 5 (a) is used as a beam loaded as shown in

fig. 5 (b). Draw. the shear stress distribution diagram for the cross-section
carrying maximum shear force.

200 mm
30kt v Hu.c o
Py o
-+ i ; 230
— Zm ! im N ,3% - 20
til}
Fig. 5 (a) Hg mm
Fig. 3 (b)
GF03528824ER0FV2SCFED 233841 F405C

4 Marks

6 Marks

6 Marks

4 Marks

8 Marks

Ques a) A simply supported beam carrying a point foad is shown in fig.6. Determine 8 Marks

.C Slope at A and B
2) Maximum deflection.
Take E =200 GPa, [ =60 x 10 mm®.
120 kN
| .

.. ]

Figure.6

b) A simply supported beam 5 meter long, carries 10 kN of load at the mid- 4 Marks
point. Calculate by moment arca method, the slope at the supports and

deflection at the mid-span.
Take E =2 x 10° N/mm?® and I=1x 10° mm?,

Que.6. a) Two shaft AB and BC are connected in serics as shown in fig. 7. The 6 Marks
diameters of AB and BC are 100 mm and 50 mm vespectively and their
lengths are 200 mm and 300 mm respectively. Both the shafts are made of
the same material having modulus of rigidity as 8 % 10° N/mm?, Determine
i) Shear stresses set up in each shaft, and
i) The total angle of twist.
The torque applied at the one endis 10 kNm.,

Pra B . =10 kN
5 C
100 mm & 50 mm ¢ ﬂkﬁ
200 )
00 mm ; 300 mm
Figure.7

b) The external and internal diameter of a hollow C.I. columnis 5cmand4 6 Marks
em respectively. IT the length of its column is 3 m and both of its ends are
fixed. Determine the crippling load using Rankine’s formula.
Take oc = 550 N/mm® and o= 1/1600 in Rankine’s formula.

lIIlIIIIIEmm_FmEulllllll,ll.«l

OF03528824E80F025CFEN23384 1 F405C




DR. BABASAHEB AMBEDKAR TECHNOLOGlCAL
UNIVERSITY, LONERE - RAIGAD -402 103
Winter Semester Examination - Dec 2019

Branch: Mechanical Engineering ‘ AT A Sem..— IV :
Subject:- Numerical Methods in Mechanical Engmeermg (BTMEC404) - Marks: 60 :
Date:- 02/12/2019 Tlme’ 3 Hr“ "

——————— {—— — ——————— —— T— T —— ——————— — —f— i o ‘o i o
s S T S T N T T ST EE S =T

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the followmg . O
3. Tllustrate your answers with neat sketches; diagram etc wherever necessary
4. If some part or parameter is noticed:to be Imssmg, you may appropnately
assume it and should mention 1t clearly .

(Marks)

Q.1. (a) Explain the following; Approxnnate error Precmon and accuracy w1th su;tahle example? (6)

(b) (i) The length and breadth: of a rectangle are- A body travels umformly a distance of (5.740.1) cm
and (3.4+0.2) cm. Find the area of the rectangle with i error limit. @
(ii) Round off the followmg to four 51gn1f1cant dlgltS B )

0. 0063945 0 090038 ‘ . R e

Q.2. Find the posmve root of the equanon xe* =T using blsecnon method which lies between 0 and 1 till

approx1mate error becornes 10% Show lower limit, upper hrmt and approximate error in each
1terat10n S ST SO R TR (12)

Q3. Use Gauss ehmmatlon to solve R (12)
e - 3-01%-0.2% = 7.85
' 0 Axi + 7%= 0.3%3 = -19.3
0 3X1 ~0 2X2 + 10X3 =714

;.Q A (a) The work done 'on an’ ob]ect is equal to the force times the distance moved in the direction of the
. force The velocuy of an object.in the direction of a force is given by

vEAt 0 0Lt£6
Where v is.in m/s. Employ the multiple application trapezoidal rule to determine the work if a
- :: constant force of 200 N is applied for all t. (8)
‘ (b) Obtam the forwarlefference expression for first derivatives. @

. ‘(5):‘:SoIVe the \following ODE using Euler’s method from t = 0 to 3 taking step size of 1.
iy
oy y+t

given y(0) =1 6)

9F03528824E80F025CFED23384343B07




Q.6.

(b) The table below gives the temperature T (°C) and length I (mm) ofa heated rod. Fmd the Values‘ :

of length at 55°C using quadric interpolation.

T

40 50

160 .

!

600.5 | 600.6

Draw the algorithm of the following Numerical Methods (Any Two)

(i) NR Method

(ii) Simple Trapezoidal Rule

(iii) 1/3™ Simpson Rule

1600.8

6

: (12) ‘

Paper End

9F03528824E80F025CFED23384343B07




DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY,
LONERE — RAIGAD -402 103

Winter Semester Examination — Dec. - 2019 - |

Branch: B.Tech - ~Sem.: IV

Subject: - Interpersonal Communication Skills and Self D‘evelopment,fo‘r Engineers
(BTHM3402) s ."Marks: 60
Date: 04/12/2019 S ' Time-3 Hr

(Attempt any five questions) - e
Q. 1. a) How will you prepare proper slides for an effectxve presentatlon" o 6 Marks

Q. 1. b) Critically evaluate the role of Engltsh language in professmnal life of an employee 6 Marks

Q. 2. According to you, how to get prepared for an inte\rview"?\ Explain. | P S . © 12 Marks

Q. 2. a) What employability sk1lls should be taken mto consxdex at1on by a candldate in the process of
interview? & SR ‘ T 6 Marks

Q. 2. b) How will you advise your friend to develOp positive aititude in hith/her? 6 Marks

Q. 3. How will you: con31der the role of SWOT analy51s in personallty development of an employee?
Elaborate T T S : o e 12 Marks

Q. 4 Critically comment on the constituents of effective communication.

12 Marks

Q. 4. ‘Speaking plays an insttumental role in the process ‘of career enhancement’, illustrate.
; | _ | ‘ 6 Marks
Q. 4. b)» Wﬁte‘short notes on i_)zself—evaluatiyon, 1i) self-discipline and iii) self-criticism. 6 Marks

'Q 5.. Explam how verbal and non verbal means of communication can be used effectively in
L presentat10n7 2 ST 12 Marks

'Q. 6. 'a) What is intrinsic motivation; explain with appropriate examples. 6 Marks

b) What do you acknowledge through the following notion: ‘1% Passion + 99% Hard-work =
. Success’? SR 6 Marks

************






DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY LONERE -
RAIGAD -402 103
Winter Supplementary Examination — December 2019

 Branch: B. Tech | . Semester:AV.
Subject with Subject Code- Physics of Engineering Materials - (BTBSE406A) -~ Marks: 60

Date - 04/12/2019 , 0 U Time< 3Hr

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following. :
3. Illustrate your answers with neat sketches, dlagram etc., wherever neoessary
4. If some part or parameter is noticed to'be missing; you may. appropnately
assume it and should mention it clearly R :

Que. 1 Attempt the followmg , r TN
a) Whatis Schottkey defect é For Schottkey defect prove that S 8 Marks

Tl Nexp——m

b) Calculate the wavelength of X- ray beam 1ncrdent ata glancmg angle 12° for the 4 Marks
first order reﬂectron from a calcite crystal if the inter-atomic spacing d for the
{ crystal is 3 035 A

Que,,.2 Attempt the followmg :
o ) ~For Langevrn s Dramagnetrc theory, prove that § Marks

6m

e b) A m’agnetie field of 1800 A/m produces a magnetic flux density of 3 x 10° Wb 4 Marks
. Inan iron bar of cross sectional area 0.2 cm?. Calculate permeability.

7 Que.3 Attempt the followmg
o a‘)‘ What 1s a Cooper pair? Explain BCS theory of superconductors. 8 Marks
s OR |

9F03528824E80F025CFED233849C1878




Que. 4

Que. S

Que. 5

a)-  What is Josephson effect? Write a note on Cryotron

b) Calculate the critical current which can flow through a long thin superconducting
wire of aluminium of 10~ m diameter. The critical magnetic field for a1u1n1n1um
is 7.9 x 10° A/m.

Attempt the following,

a) What is Hall effect? Derive an expression. for Hall coefﬁ(:lent and moblllty of
charge carriers. Discuss any two of its applications.:

OR . : , v

a) Derlve an expression for conduct1v1ty in mtrmsrc and extrinsic semlconductor
materials. Write a note on Light Emitting Diode (LED)

b) Calculate the conductivity of pure silicon at room temperature When the .
concentration of the carriers is 1 6 x10% cm leen He= 1500 cmZ/V-sec and
th = 500 cm?/V-sec.

Attempt the following.

a)  What is dielectric, constétnt?:De_ri_ve"arrexpressi(‘)n‘ var‘Cll;‘;tusillx“s—M(')sotti equation

b) Explain temperatu‘re_ and-'frequeri'ey depeﬂdertee }(L)'fﬂﬂtiielectric .po_lérization

Attempt the followmg

a) Explam powder method of X-ray dlffractlon ,

What isa Carbon Nano Tube (CNT)‘7 Wrrte propertles and applications of CNTs.

b

8 Marks
4 Marks

8 Marks

8 Marks

4 Marks

6 Marks

6 Marks |

6 Marks
6 Marks

******‘*'******'*****%*****‘*****-'*‘Paper End AR AXARI A FTEI AT T dddddddddddnx
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5 2 2 . .
A) | Use Cauchy’s integral formula to evaluate %nﬁ%% dz, where Cis | Evaluation 4
the circle jz| = 3.
. : ; 2’2z s . Analysis 4
B) | Find the poles of function D Also find the residue at each pole. ‘ Y
z N
O | Evaluate ¢. —— dz , where C is the unit circle [z] = 1. Evaluation 4
C cosmz
%%+ Paper End ***

i <x< . ion’
A) Express the function f(x) = MmE M~ MW M =T 25 aFourier sine integral Evaluation 4
and hence evaluate that .st_ﬁwxwww.wm da.
B) | Using Parseval's identity for cosine transform, evaluate bcv:@ﬂe: 4
.\.oo dx
0 (x?+a?)(x2+b?)
(o) x, -~ 0=sx<1 Analysis 4
Find the Fourier sine transform of f{x) = j2~x, 1<x <2
0, x>2
D) | (FE{f(0)} = m.w then find f(x). Hence obtain the inverse Fourier sine Analysis 4
, transform of w . : ,
- .4 | Attempt any three of the following: ) 12
v A) | Form the partial differential equation by eliminating arbitrary function f Synthesis 4
from f(x2 +y* +2%,3x + 5y +72) =0 v o
B) | Solve pz — qz = 22 +(x + y)? Application | 4
. - . _
©) | Determine the solution of one dimensional heat equation w|w =c? Wm where | Analysis 4
the boundary conditions are u(0;t) = 0, u(l,t) =0 {t>0) and the
initial condifion .:Oo 0) = x; [ being the length of the bar.
D | Use the method of separation of variables to solve the equation Application 4
B _ 3 4y given that u(x,0) = 6%
il e , given m:x..ww‘w :
Q.5 | Attempt the following. 12
A) | Determine the analytic function £(z) in terms of z whose real part is Analysis 4
sin2x . N
cosh2y—cos2x
B) | Prove thatu = x?-— y2 — 2xy — 2x + 3y is harmonic. Find a function v Analysis 4
such that f(z) = u + iv is analytic.
C) | Find the bilinear transformation which maps the points z = 0, ~1, —i onto Analysis 4
the points -w. = i, 0, co. Also, find the image of the unit circle {z| = 1.
Q. 6 | Attempt.the following. 12

EC2ZFA3DO100FD3760E4B79796AACOGEC

EC2FA3DO100FD3760E4B79796AACOGEC



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE -
RAIGAD -402 103
Winter Semester Examination —- Dec. 2019

Branch: B Tech Mechanical Engineering “Sem.:- 1

Subject:- Material Science and Metallurgy (BTMEC302) Marks: 60

Date:- 12/12/2019 e Time:- 3 Hr.

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following,
3. Tllustrate your answers with neat sketches, diagram etc., wherever necessary.
4. If some part or parameter is noticed to be missing, you may appropriately
assume it and should mentionit clearly

, (Marks)
Q.1. (12)
a) Explain in short different imperfections in crystal structures 6
b) Draw stress strain diagram for mild steel, show effect of Carbon content on 6
shape of stress strain diagram
Q2 (12)
a) Whatis solid solution? Differentiate between substitutional and interstitial solid 6
solution?

b) Draw Fe-FesC equilibrium diagram. Show all temperatures and phases 6
Q3 (12)
a) Draw neat labeled TTT diagram for -eutectoid steel and give stepwise 6

experimental procedure for drawing it.

b) What is annealing? List different types of annealing along with their purpose. 6
Q4. - : (12)
a) Explain with neat sketches different types of flame hardening. 6
b) What is surface hardening? Explain induction hardening with neat sketch. 6
Qs (12)

- a)- Explain steps in specimen preparation for microscopy. 6
b) - For spark test draw the sparks for the following specimen 6
1.Cl 2.MS 3. HSS
Q6. (12)
a) Write a note on strain hardening 6
b) -Explain dye penetrant test. What is its application? 6

Paper End

C7B584B90A6F2E4613757AB6D127 D359







(90) '$95B0 130q Ul JudwdFueLie oy} Ya3ey§ AmoIow Jo
[9A3] SU} UL ADUIJFIP MBU Y3 3)B[Nd[E) . W/NOT86 OF paonpal

ourj odid ay3 ut 1a3em Jo aanssaid ayy I ‘adid 9 Jo 101U00 o1 YIIM

[9A3] 9y} UI ST AIOIDUI JO 9JBLINS 301 SY} pue WI(| ST oqn3-() JO Squ|

ay ut Linossw JO [9A3] Y3 UL DUISPIP 343 J] .oc: urew ay} ul 19jem ay)

Jo aunssard oy omIULIAIO( "qUUI] 9] Y3 UT ST AINOISW PUE I9jeM US3MIdq
1013U09 oY [, "ateydsoune 03 uado pue AIOISt SUILIUOD I9JOUWOUBIH

oy Jo quuiy 3B oy ], “unssaid srroydsoune Jo $s89x2 SI yoym oui|

adid e ut 1ojem Jo aunssaid sy arnseaur 03 pasn s1 Iajowouett 9qni-} v(q)

uotsuay, soeyg(1)
Aqissaaduo)(1r)
A11809s1A (1)

(90) :sanadoxd prngy Juimoroy ayp dSuya (8) ‘'O
(SYIBIA)

AJ1e9[o 11 UOTIUSW PIHIOYS PUE J1 AWINSSE
Kpojerrdordde Kew noA ‘Furssiur aq 03 paonou s1 1yawered 1o yred owos I §
‘A18SS300U JOASISYA 010 WRISLIP ‘SOYDISYS 18OU (1A SIOMSUE 00K 218nsn]] €
"Burmolfog ay3 Jo suonsanb aay Aue dwany g
"Sytew 7] sorLes uonsanb yoey ||

SJUIPNIS 3y} 0) sUOHINLISu|

“IH € -l 6107/C1/p1-93ed
09:SHIBIN  €OSDAINLLA - SAIUBYIIA PIN[-:3p0)) 393{qng yiim 333[qng

I~ 'was Surouiduy _mo_zn:oo—z youeayg

6102 - 12quUa33Q - UOHEUIWIEXTIISIWIS IDIUIM
€01 zob- avnivy
—IHINO1 C,,C._mmm>_z,3 TVIOIDOTONHIAL HYNGIaINY 93HYSYAVE "Ha

s




Q.2.(a) Prove that the Center of Pressure of a completely sub-merged plane
surface is always below the Center of Gravity of the sub-merged surface when the

plane surface is vertical. (06)

(b)What are the conditions of equilibrium of floating body and sub-merged

body? , (06)

Q.3.(a)Define the following flow: (06)
(i)Steady Flow
(i1)Non-Uniform Flow
(iti)Laminar Flow
(iv)Turbulant Flow
(v)Compressible F 58

(vi)Irrotatinal Flow

(b)Derive an expression of three dimensional continuity equation in

rectangular cooridinate system. {06)
OR

(b)If for a two-dimensional potential flow, the velocity potential is given by

®=x (2y -1)Determine the velocity at the point P(4,5) and value of stream

function at the point P. (06)

Q.4.(a)Derive an expression for the Discharge %aosmw,_,am:mc_mw Notch. (06)

(b)A 30cmx15cm venturimeter is provided in a vertical pipe line carrying oil

of specific gravity 0.9, the flow being cv,éma. The difference in elevation of

the throat section and entrance section of the venturimeter is 30cm. The

3

differential U-tube mercury manometer shows a difference of mercury level

25cm.
Calclate:
(1)The discharge of oil

(ii)The pressure difference between entrance section and throat section.

‘Take Cd=0.98 and specific gravity of mercury =13.6 (06)

Q.5.(a)Derive an expression for shear stress distribution and velocity distribution

for Laminar flow though circular pipe. - (06)

(b)A horizontal pipe line 40m long is connected to a water tank at one end and
discharges freely into atmosphere at other end. For the first 25m of its

length from the tank, the pipe is 150mm diameter and its diameter is

mp&on_v\ enlarged to 300mm.The height of water level in the tank is 8m
above the center of the pipe. Considering all losses of head éEo: occur,

Determine the rate of flow.Take f=0.01for both pipe. . - (06)

Q.6.(a)The efficiency n_ of fan depends on density p, dynamic viscosity u of the
fluid, angular velocity o , diameter D of the rotor and the discharge Q.

Express efficiency n of fan in terms of dimensionless parameters. (06)

{(b) Define Displacement thickness. Derive an expression for displacement

thickness. . (06)
OR

(b)What do you understand by: Total drag on the body,Resulant force on a
body, co-efficient of drag and co-efficient of lift. (06)
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ot with Code:- Machine Drawing and CAD (BTMEC304) v “Ma‘rks: 60
- 17/12/2019 r 4!; SE Time:-3 Hr. .
Instructions to the Students

1. Each question carries 12 marks.

2. Attempt any five questions of the following: - s

3. Ilustratc your answers with neat sketches; dxagram etc wherever necessary

4. If some part or parameter is noticed to be mlssmg, you may approprlately
Assume it and should mention it clearly -~ 4

(Marks)

2.7, Hlustrate any three with an example CUARTLNEN P (3x4=12)
) Half section Cont ok e). Broken section
l) Removed section S vd). Auxiliary section:
1.2, Attempt any two of the following (12)
1) Draw the symbol of the following (6)
1. concave fillet-weld
2. convex-double'V-butt weld G
b) Draw conventional representation for the‘f ol ing- (©) .
~“Spurgéars in mesh S
2 RoHu bearing
e) Draw neat skelch in two views of a ﬂanged couplmg (6)
1.3, Attempt any two of the following (12)

~a) Avwertical cylinder of 75 mm diameter is penetrated by another cylinder of 50 mm diameter.
The axis of which is parallel to both HP & VP. The two axes are 9 mm apart. Draw the

prO_]CCII nof two cylinders showing curves of intersection. The length of both cylmders is

2100 mm. 8 (6)

b)* Arvertical squznc prism-of side of base 40 mm axis height 75 mm has its faces equally
S inclined with V.P. A cylinder of diameter 40 mm and length 75 mm intersects the prism
~horizontally such that its axis is perpendicular bisector to the axis of vertical square prism.

The plane containing both the axis is parallel to V.P. Draw the projections of solids

RS ‘showing curve of intersection, (6)
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¢) A cone with base diameter 70 mm & axis height 65 mm is kept on HP”"(’:)’h’its‘ bas‘e}“ y\lt i§ ;

penetrated by a horizontal cylinder of diameter 35 mm with |ts axis paralld tor VP o

intersecting axis of cone at distance of 20 mm above base of cone. Draw pro Jectlon of solx

and curve of intersection.

‘(12‘)__‘1” |

Q.4. Attempt any two of the following L
M) D

a) State the meaning of following symbol as shown in Fig.

Milling
40

25

s\ /L

/SIS

b) State the advantages of Computer Alded Desngn and Drafting.” S 6)
¢) A shaftand hole are given as. U 8 (6)
#0280 k0,090 S
Shaft 50" 20 000 s ‘{H“ole50+°-°°°
Determine: .~ "’ ©E AN
(1) Max1mum allowance . (11) Mmlmum allowance (iii) Type of fit

Q 5. F1g shows assembly of Pedestal Bearmg Draw detailed drawing of the following.

“)
b) B_rass | )
) Cap. )
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Q.6. Figure shows the details of 125 mm Steam Valve. Draw the assemi o 1] secional éle\'/ut'i‘fc')u‘i\ 2)

8 Holes, 115,
" Off Cenlre Lines, b
On 204, PCD

**paper end
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